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Iy Find all solutions (real or compie)of x* —2x +5=0
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3) Find all real solutions of the equation.
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4) Solve the inequality. Graph the solution set on the real number line.

a) xZ+4x—12>0
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3} Find the intercepts and graph by plotiing points vy = =°- 4.
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6) Let Py=(2,-3) andP:=(4,5)
a) Find the distance between P1 and P2 e e N
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b) Find the midpoint of the line segment containing Pi and P».
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¢) What is the slope of the line containing P; and P»?
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d) What is the equation of the line through P; and P»?
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¢) What is the equation of a line through P with undefined slope?



7y What is the slope of any line perpendicular to 2x +y = 67
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8) Graph the line containing the point (1, 3) and gy
having slope -2. L s
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9) What is the center and radius of the circle (x — 22+ (y+1)?2=57?
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10) Fmd the standard equation of the circle with general equation -
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